1.  False.   A third bundle to which the consumer is indifferent must exhibit diminishing marginal value.  Consider two indifferent bundles to have 4 apples and 4 meat; and 6 apples and 2 meat.  An indifferent bundle with 3 meat must have less than 5 apples for diminishing marginal value.  Hence 5 and 3 is preferred.


 


2.  Fundamental points - 1.  The concept of basic human needs is at best poorly defined and at worse nonsensical.  2.  We desire more of all goods and we substitute among all goods.    As wealth or incomes fall, it is likely that most people's willingness to substitute changes in predictable ways.  We might call "basic human needs" those goods that have increasing marginal value as income falls (or which have the greatest share of consumption expenditures at low incomes).


    Presumably Senator Kennedy means that given our increased wealth he prefers that all citizens have certain unspecified amounts of the six goods (and who gets to give up what to pay for it - a pretty easy suggestion for one who inherited his wealth).  It is important 


that the students recognize both the ambiguity and the value judgment in his statement.  How much medical care?  Massage therapy for all?  Pre-school French lessons for all?  A car in every garage? (which means shelter includes a garage?)  Many individuals clearly 


believe alcohol and drugs are far more "basic needs" than even food, shelter and clothing  - much less day care and transportation.





3. The UW athletic department desires more programs and facilities in uncountable areas; that is, it faces scarcity for all those things it considers goods.  The department could spent the entire university budget (and indeed the entire state budget) on improvements to its facilities and expansion of its offerings; we need outdoor swimming pools, new soccer fields, a new basketball arena, retractable cover on Husky Stadium, covered bicycle track, 


...  The question is not what the department "needs", but rather which of its insatiable needs have the highest value.


    For the second part of the question - an economically sensible approach to how to use the additional funds would be to allocate the funds to areas where the value of the improvement is the greatest per dollar spent.  Ideally, the department would spent its budget to equalize the marginal value of additional expenditures in each area. 





4. a.  The cost (of purchasing a good) is the highest valued foregone alternative.  If purchasing the good takes time which otherwise would be used to do something else, that lost alternative use of the time is a cost.  (My wife enjoys shopping.  For her it is 


only the time spent at the register that represents a foregone alternative (more looking)).  Essence - recognition of concept of opportunity cost.


    b.  Webster defines need as "Lack of something desired."  This is indeed the common use of the noun.  Scarcity implies an abundance of "need."  Presumably all DOE programs and projects are desired (at least by the agency).  Hence the expected result is that all 


projects (and many more) currently funded are needed (frequently these type of "studies" result in the conclusion that there is a "critical need", whatever that is).  I presume the State is interested in which programs generate the least benefit per dollar cost (how the politicians can incur the lowest political costs from an X% cutback)?





5.  The citizens of Washington desire more parks, museums, roads, higher education and healthcare.  These are all scarce goods.  The citizens of Washington are willing to substitute some of any of these (or food, clothing and shelter) for more of another.  


Healthcare is not more scarce than any other economic good ("more scarce" has no economic meaning), and the "need" for healthcare is no more basic than the need for leather seats or CD players.  If by "basic human needs" we mean those goods with the greatest income elasticity at very low income levels, such goods may include healthcare.





6.  The economic "cost" of the bagels is the highest valued foregone alternative.  This would include mainly the time spent going to Bruegger's and waiting in line (and even any embarrassment if nothing else is purchased.)  Extra - in equilibrium these costs should be sufficient to "clear" the market.





8.  A.  You first must determine if they can trade and then what good will John trade for.  You are then done since the marginal value of the good that he trades for will fall (he has more of it) and the marginal value of the good he trades away will rise.  John will trade pop to Julie since his marginal value of his 9th can is lower than her marginal value of an 11th can.


     B.  The most pop is 1 (2 from John for $1.10; 1 to Julie for $1.50).  The most $ is $1.40 (2 pops to Julie for $2.50 of which $1.10 must go to John.)





9.  a.  T - without any scarcity, no choices need be made.  Economics is the study of social interaction resulting from scarcity.


     b.  F - the value of anything is equal to the maximum amount an individual would give up to have it.  Individuals will continue to take an action until the price (what you have to give up to get another unit) equals the marginal value; but all but the marginal unit, value will exceed price.


     c.  I am simply looking for some understanding of an "externality".  Others can be Affected by individuals' buying decisions, so that just because the traders benefit doesn't mean everyone benefits (that the action is efficient).


    d.  In order to predict behavior, we will assume this as a basic postulate.  The postulate will be judged by the correctness of the predictions.


    


11.  a.  Yes; explanation should include words to the effect of different marginal values.  An example is helpful.


    b.  The trick here is that as trade occurs, marginal values change (in particular in this case, the marginal values of food Increases compared to the values in the table).  Hence, we cannot be sure of the trade for the third unit of food, which is different than knowing Chris and Kim would trade for the third if they started with combinations f and b respectively.  (Note that the second unit would be traded since Chris's marginal value of the second food must be less than 6 - he has more food and less drinks than f., while 


Kim's is greater than 7.)





12.  a.  Main point - middlemen allow trade without Chris and Kim coming together or even knowing one another.  Also, they reduce the cost of the trade by being expert in their specialty good.  Bonus points - middlemen warrant quality because of the value to them of a reputation and repeat sales.


    b.  1.  Explain.


    c.  This is a very sophisticated issue.  I consider money to be among the most valuable inventions.  It tremendously increases our wealth by allowing each of us to function as a trading intermediary (middleman) because we can completely separate the two sides (what we give up and what we get) of our trades.  Money also allows middlemen to trade with all individuals who have supply or demand of their specialty good (regardless of what the individual has to offer or wants to trade for) by the middlemen becoming specialist in only two goods - their specialty and money.


    Desirable properties - Durable, easily recognizable, transportable, divisible, limited in supply but cheap to produce,.....





15.  Straightforward.  The essence of the question is that the use of the car "costs" the department the foregone alternative of selling the car.  Hence the cost is about the same as if they bought the car.  The fact that they acquired the vehicles from drug dealers is not relevant to determining what it costs them to use them.





16.  a.  Chris has the higher MV of socks (will give up one "shoes" to get 9 socks, while Kim requires 12 socks to give up one shoes); Kim the higher MV of shoes (will give up 11 socks to get another shoes versus 7 socks for Chris).  Therefore we expect Kim to trade for shoes.  For example, if negotiation results in a price of 10 socks per one shoes, Kim will trade for an extra shoes, ending up with 4,8.  Compared to the original combination 4,7, her marginal value of the 5th shoe will rise since she has more socks.  (Also correct - compared to her original MV of 11, her MV will be lower post trade.)


b.  Finding a trading partner, ascertaining the quality and value of the other's goods, and negotiating a trading price.  These costs are reduced by having middlemen who stand ready to trade their specialty good for a common intermediary money.  The middleman is in the trading business over time such that information about his/her location reduces the cost of finding a trading partner, and also allows for a reputation for high quality goods (or honesty) to be valuable by generating future trades.  The use of money makes it possible for us all to specialize in a common good that is easy to identify and also allows temporal separation of the two parts of a trade.





17.  a.  Yes - Jacky's MV of another CD (the 21st CD) is 8 movies (will give up 8 movies to get the 21st CD), while Tony's MV of the last CD (the 10th) is 3 movies (will give up the 10th CD for 3 movies.  For any exchange rate between  1CD:3-8 movies allows a trade that makes one or both better off without harming anyone else (which is the definition of efficient.)


b.  The costs of trading include finding a trading partner, determining the quality of others' goods, and negotiating a price.  Money, as trading intermediary or store of value, allows a the traders to separate the buying and selling; it also allows trading specialists in particular goods to develop (who act as middlemen).  Middlemen act as repeat traders and thereby lower the cost of locating a trading partner.  They also can develop valuable reputations for honest dealings which lowers the cost of determining goods' quality.


c.  After trading for the first, Jacky will have 21CDs and between 12 and 17 movies.  The MV of the 22nd CD will between 7 and 12.  Tony will have 9 CDs and between 13 and 18 movies with a MV of the 9th CD of something equal to or greater than 4.  Hence we cannot be sure they will be able to trade for the second (Tony's MV may be greater than Jacky's).  





18.  The two stores likely have different prices for different things, some QFC prices lower than Safeway and some higher.  Our shopper selects what to buy depending on the prices; in particular, for items that are low priced at QFC, such as sale items, quantity demanded is increased, while relatively expensive items have reduced quantity demanded .  The basket of groceries chosen at QFC would be very different than that chosen at Safeway because of these demand responses.  It is no surprise that the basket of groceries from QFC which is weighted towards the QFC sale items would cost more if purchased at Safeway (and vice versa). 





20.  A.  Fundamental points -  1.  Money is simply an intermediary.  2.  Money does not lead to competition, scarcity does.  3.  Money allows substantial reductions in the cost of trading.  4.  Money does lead to substantial increases in wealth.  5.  "Human relations" is a good.  6.  The greater one's wealth, the greater the possible consumption of human relations. 


    Competition results from the unfortunate fact that we would like to have more than we have.  Money does not cause competition or acquisitiveness.  It does however make the information about relative costs and tradeoffs transparent for "market tradable" goods.  This is expected to lead to a lower cost of market trades relative to non-market trades (such as time spent cultivating friendships).


    Money certainly does allow increases in wealth (which we haven't defined - the value to the rights one possesses) by lowering the costs of trades.  It is therefore true that the same amount of wealth from market tradable goods can be acquired for less "time".  


Whether this wealth effect more than offsets the price effect (see above) is uncertain.


   B. Tom Shane does not eliminate the middleman rather he is the middleman.  He does not therefore save the costs of middlemen; he incurs these costs.  The Law of Comparative Advantage suggests that costs will be minimized by his specializing in the activity, either retailing or middleman, in which he has a comparative advantage.  


Hence we should expect that his costs are higher than other jewelers who so specialize taking full advantage of the Law of Comparative Advantage.  Finally, even if he did have lower costs, we do not expect him to pass them on to the consumers.





22.  This is quite simple.  Note that the Smith's spent $9.00 at Jumbo Foods at the original prices when purchasing their preferred quantities at those prices.  At the new prices they could purchase the original quantities for $8.25.  Hence they must prefer the new prices.  (The fact that the Smith's spend $8.25 at the new prices is irrelevant and should be appropriately penalized.)





26.  Generally True.  The inflation increase tells us the percentage increase in cost of the average set of goods purchased last period by consumers.  Assuming I consume approximately an "average" set of goods, and that all goods' prices do not change in the exact same proportion, then the wage increase would allow me to purchase the exact same set of goods I bought the year before.  The law of demand implies that I will increase (decrease) the consumption of those goods with relative price decreases (increases).  Since I choose that action that makes me best off, choosing to consume something different than last year (when last year's consumption was Available) must make me better off.





29.  Fundamental points -  1.  In defining the economic good "vacation" we must consider the quality dimensions.  2.  Properly defined the Law of Demand applies.


    Vacations can vary according to the number of days, whether travel is by car or plane or luxury liner, whether we drink Pina Coladas or beer, whether we have an ocean view, do the kids go, ect. ect.  As the price of vacation goods fall, the law of demand predicts more such goods will be consumed.





30.  Fundamental point -  1.  The "price" in applying the Law of Demand is the opportunity cost to the individual.  2.  Assuming the utility bill is split, the price to Cris is one half the increase in the electric bill.  3.  Law of demand predicts increased consumption.





34.  a.  Look for the correct shift up in supply (if the axis is buyer price) or down in demand (if the axis is seller price).  In either case the equilibrium consumption of ammunition will fall.


b.  Yes, with a sufficiently large tax we would expect less violent crime that involves gun fire.  (If any student is skeptical, simply consider a tax of one million dollars per bullet.  This clearly would have an impact.  The impact of smaller taxes depends on the elasticity of the demand for ammunition by criminals.  There is no doubt that the elasticity is negative.)


c.  The increased price of ammunition should increase the demand for "knives used in crime", a substitute for guns, and therefore increase the quantity of knifings consumed.





35.  a.  The reduction in the quantity of tobacco available, due to the decrease availability of tobacco growing land, will reduce the number of cigarettes smoked which may reduce lung cancer.  This may be desirable to the supporters of the Cancer Society.  (Some complications - will people smoke the cigarettes down to the butt due to the higher price?  This would increase carcinogens per cigarette perhaps increasing cancer.  Also, reducing cancer will likely reduce the donations to the Cancer Society.  Is that in the interest of the administrators?)


    The tobacco growers can benefit if the demand for cigarettes is inelastic such that the percentage increase in the price is greater than the percentage reduction in the quantity.  In this case their revenue goes up.


b.  As the time to adjust by consumers increases, the demand becomes more elastic.  Therefore, with a given availability of tobacco, the price will fall over time.  The Cancer Society's benefit should not change in any significant way (as the amount of smoking is 


unchanged).  However, any benefits to the growers will be falling with the falling price.





36.  The $.25 tax will result in a ~12 1/2% increase in the price of cigarettes and a ~10% increase in the price of soft drinks.  With equal elasticity, the percentage reduction in the quantity demanded of cigarettes would be greater than for soft drinks and therefore the tax raised (=$.25 X "new quantity") would be greater for soft drinks.  However, there are likely fewer and poorer substitutes for cigarettes than for soft drinks, and therefore the demand for cigarettes should be less elastic.  This effect is counter to the larger relative price increase, and depending on how much more elastic is the demand for soft drinks, greater revenue may be raised from cigarettes.





37.  A.  With the insurance, Kim will select 8 doctors visits with a value of (80+70+60+50+40+30+20+10)=$360.  She will pay the doctors $80.  Without insurance, she would buy 4 visits and receive surplus of (30+20+10)=$60.  Hence she would pay at most ($360-80-60)=$220 for the insurance policy.


B.  The insurance company must charge $40 X 8 = $320.


C.  The out-of-pocket cost to Kim is now 2/3 X $320 or $207 which is less than her value of the insurance from #1.  She will buy.


D.  The "increase in demand" in terms of the price received by the doctors will lead to an increase in the price of physicians' visits to the uninsured.  (Note how this increases the demand for insurance causing a snowball effect that lead to the "health care crisis" of question 6). 





38.  Possibilities (relevant to our discussions in class):  1.  Increase in income.  Most relevant would be possibility that Delucia's have an apple orchard (or a substantial inventory of apple juice) and the demand for apples is very inelastic.  2.  Expectations of future price increases.  Future output might be expected to be even lower than this year due to destruction of trees.





39.  A diagram simplifies.  Use this question as a lesson in the value of a picture.


    a.  F.  Increase in price, no change in total revenue.  Or percentage change in quantity (2/9=22.2%) is equal to the percentage change in price (10/45=22.2%).


    b.  T.  The additional cost of the 40 pizzas still purchased is $80.  In addition, he is worse off because the 41st through 49th pizzas were valued at more than the $8 he paid.  If the average value of these is about $9, he loses an additional an additional $9.  Added to the $80 is about $90.  Easier, look at the diagram of demand note the lost "surplus" - a trapezoid bounded by the points (0,10), (40,10), (50,8) and (0,8).  This has an area equal to the "height" (=$2) multiplied by the average "base" (average of 40 and 50) equals $2 times 45 equals $90.


    c.  T.  An extra $100 would compensate allow my son to duplicate his purchases of last year.  But because of the higher price he would choice to substitute out of pizza making himself better off with the substitution.





42.  a., b., and e.  Yes.  Shows no substitution and no 





49.  Fundamental point - Elasticity increases with availability of substitutes.  Therefore I expect ranking of a. unleaded reg, b. Bellevue (with many adjacent communities), c. Wenatchee.  


    More subtle and less important, elasticity tends to fall as income increases, since demand shifts out and search incentives decline.  Therefore this can confound the ranking since the wealthy Bellevue residents may have a higher value of time.  Many other 


factors can be important, i.e., congestion.





53.  a.  The effective price is $2.50.  Desired consumption then is 8 (which will cost $40 of food stamps).


     b.  He will buy 12 at a cost of $60.  (5 points) He will consume 6 since the effective price remains $5 (the value of the food in resale).


     c.  Resale is preferred (some explanation required; most simply - all options available plus more.  Of course, one could calculate the "consumer's surplus" in both cases which you should do as an exercise.)  Resale might be prevented because of the preferences of 


those subsidizing the stamps for food consumption by the poor (rather than the consumption choice most preferred by Chris).





54.  Fundamental points - 1.  Link between subsidization and price,  2.  Substitution possibilities for hospital care.    Insurance shifts up the demand curve for hospital care (which has "price" on the vertical axis).  The consumer's demand is in terms of cost to the consumer which only equals say ten percent of the price with insurance paying ninety percent.  Hence at a price of $500 per day the consumers' demand is that for a cost of $50 per day.


    Of course this will lead to increases in price only to the extent that there is a increase in the quantity demanded by consumers as the price falls.  The substitution possibilities are 


myriad.  Many medical events can be treated in a hospital or on an out patient basis.  Patients can be discharged after major surgery at different stages of recovery.  Patients can have private rooms or shared wards.  Much surgery is elective.  Alternative therapies are 


available in many cases.  Hospitalization includes significant hotel services that can be reduced or increased.





55.  a.  This should increase the demand and therefore lower the elasticity at each price.  The answer should include some logic that demonstrates that a shift up results in lower elasticity; e.g., assuming an unchanged slope, a given percentage price change results in a lower percentage quantity change since the average quantity in elasticity numerator [(change in quantity)/average quantity] increases with a shift up or out in the demand.


b.  Here I am simply looking for some sensible approach.  Possibilities include - this will increase the cost of producing cola, increasing the price.  Elasticity falls as price increase.  -or- this will increase the price of carbonated beverages which will shift up the demand for cola....


c.  This is tricky since the simple minded answer is that this lowers the demand for milk, lowering the price of milk - a substitute for cola.  Such that the demand for cola is reduced which increases elasticity.  However, the total cost of milk, including the increased risk of cancer, will rise (since the fall in demand for milk is equal to the increased cost of cancer and the price of milk will fall less than this), and therefore the demand for cola will rise, ect.





57. Under the Brannan Plan (BP) consumers pay the High Price and purchase the quantity on their demand curve at the High Price (labeled HPQ - the High Price Quantity).  The government pays the High Price times the difference between HPQ and LPQ - the Low Price Quantity.


    Under the Ever Normal Granary Program (ENGP), consumers pay the Low Price times the quantity on their demand curve at the Low Price (LPQ).  The government pays the High Price less the Low Price times the LPQ.


    Since the farmers receive the same amount in either case, the government pays more if consumers pay less and vice versa.  Since the consumers are on their demand curve in both cases, it simply comes down to the elasticity of the consumers' demand curve.  If the demand is elastic then consumers pay less under the BP (increase price -> consumer payments fall) and the BP costs the government more.  If the demand is inelastic, the consumers pay more under the BP and the BP costs the government less than the ENGP.


    [In fact the demand for most food crops is inelastic.  This is why farmers do so poorly (in the absence of government transfers) when the crop is bountiful.  The best thing for farmers is when bad weather destroys half of the crop (for everybody).  Of course the 


worse event is a bountiful crop in the nation but a poor harvest for  a particular region (say because of isolated bad weather).]





58.  a.  Quite straightforward.  A supply and demand diagram is certainly useful.  The problem in Argentina reduces the amount of wheat available (shifts the available supply of wheat to the left).  At the "old" price, a shortage would exist.  Buyer who can't get 


wheat at the "old" price will bid up the price in an attempt to become the favored buyer under the shortage.


    The American farmer is correct if the demand for wheat is sufficiently inelastic (the price must more than double with a halving of US supply for farmers' incomes to go up).


    b.  Inelastic demand.     The country would not benefit since the amount of wheat 


available would go down and the total value of the wheat would decrease.  This necessarily means that the sum of the farmers' revenue and the buyers' surplus falls.


    c.  No, since Joe's destruction of half his crop will cause a travail percentage change in the availability and therefore a trivial change in the price.





61.  As a result of the zero price, there will a (greater) shortage of parking spaces.  Residents who can leave their car in a street spot all day for free and those who arrive downtown at the crack of dawn should benefit.  Short term parkers (30 - 120 minute limits usually) clearly lose as do those who do not arrive early.  Essential point is simple - parking spaces will be allocated according to some non-price criteria (first come first serve).





63. Important points:  1.  What is price gouging?  Obviously someone values the apartments equal to the price.  2.  The price paid for apartment building is a sunk cost and irrelevant to the opportunity cost of renting it.  The opportunity cost is likely given by its value in alternative uses.  3.  Rent controls will not solve a problem of expensive apartments (which is the same as saying a "high" marginal value to renters).  Only an increased supply will.  Since the rent control cannot eliminate the competition among 


buyers, it will simply shift it to non-price forms.  The rent control will cut down maintenance, reduce the additions to supply, lead to inefficient tie-ins (e.g. apartments with furniture) and increase the likelihood of discrimination.  4.  It is certainly not an implication of economics that those with the most need (?whatever that might mean?) benefit from price controls.  Indeed it is those with personal characteristics associated with being homeless that will likely be discriminated against.





64.  a.  Raise the price (or impose a tax) to whatever price equates the quantity available (supply) to demand.  This will simultaneously eliminate the shortage while ensuring that the water is allocated to those with the highest marginal values (which is what efficient allocation means).    The high price will lead to wealth reductions related to water usage.  Poor families with relatively inelastic demands for water (say leaky pipes and no recreational use) will be relatively more impacted.


    Option one - provide per capita allotments that can be transferred.  The poor can actually thereby benefit by selling some of their valuable water rights.


    Option two - redistribute the tax revenue or the water district profits.    Or?


    b.  The value of various uses of water are not intrinsic but are rather dependent on individual's varying tastes and preferences.  Someone with $100,000 of landscaping would likely give up regular flushing and daily baths (along with consumption of significant amount of other goods - $) for watering.  Some value very highly a clean auto, or hosing off the driveway, ect.  Any system that administratively prioritizes usages cannot take individual differences into account.  By allocating via relative marginal values (as is accomplished by price) individual differences in value are manifested.





67.  Those who benefit and those who lose - benefit those with high costs of waiting in lines (and those who win the lottery) - losers those with low costs.  Appropriate examples are helpful, e.g., gainers - fraternity pledges who had to wait in line for their brothers; losers - the fraternity brothers.    Simpler way - raise price.


    Why hasn't U raised price?  Note that I eliminated the "unexpected demand and value of predictable price" explanation - "This game typically "sells out" very early."  Here I expect some mention of benefit to University decision makers, e.g. President Gerberding controls access and can favor his cronies.  He does not however get any of the ticket revenue.





70.  a.  The tickets clearly have a market value in excess of $5,000 since purchasers pay scalpers that amount plus the risk of being arrested.  This, of course, is the only measure I'm aware of to determine the "worth" of the tickets.  The amount handed over to the 


NCAA ($65) is of no relevance to determining the worth.


b.  It is not an efficient allocation scheme since the highest valuing users do not end up with the tickets (look for an understanding of the concept of efficient).  Scalping is simply 


allowing resale from those with lower value to those with higher value.  It therefore makes both parties to the transaction better off.


c.  This system transfers the ticket value to the universities via donations rather than cash for service.  I suspect that this allows the presidents far greater discretion over the use of the funds (e.g., the president can have the donors designate particular uses).  Here at UW, direct revenue is simply offset by reductions in state tax support while donations increase the actual funds available.  The presidents would support the illegality of scalping if the donor type place a relatively high cost on the possibility of arrest.  This would imply that the equilibrium donation would exceed the equilibrium legal scalping price.  Legalized scalping would therefore reduce the donation price.





71.  A.  My value of a visit to the doctor depends upon many factors.  If I have a life threatening infection, I would likely give up nearly all my wealth to see the doctor to get a prescription.  In that instance my demand is extremely inelastic (not responsive to price increases).  However for colds, ache and pains and medical reassurance, the demand will be quite responsive.   Also many visits to the doctor are unconnected with illness - checkups, cosmetic, counseling.


A.'  Certainly not.  Scarcity means we don't have all we would like of something.  Prior to and after the price control, there is a scarcity of physicians.  The price control does create a shortage (quantity demanded exceeds quantity supplied at the current price).


B.  The competition among buyers is created by the shortage resulting from the price control.  Such competition usually results in the price rising until the shortage is eliminated and the incentive to compete among the buyers is also eliminated.  With the price control, other ways of competing must be pursued.  Examples - 1. the dimensions of the good will likely change.  What used to be defined as a simple visit will now be a more complex visits.  Single complex visits will now be accomplished in two complex visits.  Free phone consultations will now be simple visits.  2.  Physicians may offer related items at inflated prices - e.g. drugs, braces, crutches, lattees.  3.  Patients will compete by appealing to the physicians preferences and tastes - e.g., no visits after 3pm, no visits from unattractive people, no visits from infectious people.





72.  a.  They currently have together 4 fish and 4 pounds of fruit.  They could have 4 fish and 5 pound of fruit (or 4 1/2, 4 1/2 or 5,4) by having Jean, with MCfish equal 1/2 fruit specialize in fish catching and Lynn with MCfish 1 fruit in fruit gathering.


    b.  Before Lynn's MC and MVfish 1 fruit, Jean's 1/2 fruit.  With specialization and trade expect a price between, e.g. 1 fish per 3/4 fruit.  Lynn will want more 


fish at the lower price, Jean will want less fish at the higher price.  (Recognize the complicating factors - a.  whole numbers - numerical answer, which I am not 


expecting, would be Lynn produce 0,5, consume 2 1/4, 3 5/16, Jean produce 4,0 consume 1 3/4, 1 11/16, b. income effects).


    c.  Jean has MCfish 2 pounds of fruit.  Pat has a comparative advantage in fruit production.  The price of fish will rise to something above just above 1 fruit.  


Lynn will switch to fish production but only be marginally better off than self sufficiency.





75.  a.  Prior to trading, Joan and Tim will both have selected their preferred production mix by equating their "opportunity to trade with nature" to their marginal value.  Joan will therefore have a marginal value of 4 oz berry per egg; Tim - 6 oz berries per egg.  Once meeting, an opportunity for trade at a  "price" between these marginal values will result, say 5 oz berries per egg.  


This price will then induce Joan to specialize in egg production trading for, rather than producing berries since she gets more berries trading with Tim than trading 


with nature.  Vice versa for Tim.


    b.  i. Yes - in the specialization and trade equilibrium the price of berries to Joan will be greater than 1 egg and she will trade until her marginal value 


equals that higher price, having relatively more eggs and less berries than prior to specialization.


    ii.  Yes - because of the gains from specialization and trade, Joan will find that the value of trading an hour of her leisure has risen which will induce an 


increase in her work hours. 


    c.  Yes.  Joan still has a comparative advantage in egg production.  The increased supply of berries from Pat will cause the price of eggs to rise benefiting Joan.





76.  It is correct that societies benefit from increased opportunities to trade which expand the opportunities to take advantage of comparative advantage.  However, with the expanded opportunities some who used to have a comparative advantage in a particular production activity, say log milling, (e.g., Tim in question 4) find that people in another country now may have that comparative advantage.  This information is given to them via the "outsiders" underpricing them (or not purchasing their services at their price.  The owners of the assets used in the US milling and the mill workers are therefore worse off from the expanded trade even though the total of the gains and losses for the country are necessarily positive.  The mill owners and mill workers are not interested in the welfare of the country but rather the welfare of its 


themselves.
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